B8 BA 7R — b &

]
o .3
. OEREAR—ILER
{IF-S10A> &= : 650kg (720kg) {IF-S12A> E& : 720kg (785kg)
bl
% i (@) ;
n ) [¥s)
% = N201 24— ®
¢ 500
& 1 I
= 100 g g
K 1 |= 5
. 0| =
g - N -
~ - MEASA TN 2 | 2L 50
— =4l ~la
= g T Sol HT
oo L |
1 J
<
E - M LIESS L} ——=
X [, S 1
C i
2
%{ BEAOMIEE () TR EHHBOMIBE () v
oo
{IF-S10AB> E & : 940kg (1030kg) {IF-S12AB> E= : 1030kg (1120kg)
* VES4 x 2
Y 156 7 uh—RL AR s 156 F AL - EHAE
imm hA ; ) 24
g | 2 g— 7|8 4 ga é
i » L 1 "I = | . 11 "]:g =
K L O e O
=] ~ ol © &
= S o= | 5 ] g
oo ; § I F_—:; = \:E?_ 8 . L o
S = 70 300 70 ol 8 =i
— = L S @ L ——— ]
g = I — o L= 70| 300 |70
ElE et \JAER/ S FBEOx 3. 2t = — \AERAA 5L FB50 3. 2t
£ \ I
% L o] o|— L o o]/~
oo
8500 =k 88
¢ 500
# @] Qf———+ fo) o —1
. == ==
- ] T
8 i QO i 8 n QO B{
BHHOREE () TR C mtwonER () cies

— 260 —





